MWOU<Q

ISTRUZIONI DI MONTAGGIO
ASSEMBLY INSTRUCTIONS

SAMURAI



/

Componenti:
Components:

T

<ol

Samurai poltrona /armchair

Méx25 (x8)
SCREW

DADO A MARTELLO (x12)
HAMMET NUT

M6x50 (x8)
SCREW

RONDELLA M6x18 (x8)
WASHER

M6x30 (x4)
SCREW

RONDELLA M10x20 (x4)
WASHER

SCOCCA SEDUTA (x1)
SEAT SHELL

GAMBA (x2)
LEGS

BRACCIOLO (x2)
ARM

PROFILO (x2)
PROFILE

IMBOTTITO SEDUTA E SCHIENALE (x1)
PADDING SEAT AND BACKSEAT

\




1 Fissare le gambe al profilo utilizzando le vitiM6x25 e il dado a martello e avvitarle.
Per facilitare il fissaggio avvitare un po' il dado a martello e
inserirlo nella feritoia del profilo.
Fix the legs to the profile using the screws M6x25 and the hammer nut and screw them.
To make the fixing easier screw a litfle the hammer nut and insert it on the profile’s slof.

A0

=
“ 4

oA
ZA

\

La gamba montata a filo del profilo
The leg mounted flush with the profile

2 Avvitare i braccioli o i tappi alla scocca utilizzando le viti M6x50 e

relative rondelle (M6).
Screw the arms or the caps fo the shell using M6x50 screw and the related washer (M6).

Versione con braccioli Versione con tappi
Version w/arms Version w/caps



3 Fissare la seduta alla struttura utilizzando le viti Mé6x30 e relative rondelle (M10)
con i dadi a martello.

Fix the seat fo the sfructure using the screw M6x30 and related washer (M10)
with the hammer nut.

4 Una volta terminato il montaggio, posizionare i cuscini.
Once completed the assembling, place the padding.




Samurai divano / sofa

Componenti divano 2 posti:
Components sofa 2 seadts:

50

M6x25 (x8)
SCREW

DADO A MARTELLO (x12)
HAMMER NUT

Mé6x50 (x8)
SCREW

RONDELLA M6x18 (x8)
WASHER

Mé6x30 (x8)
SCREW

RONDELLA M10x20 (x8)
WASHER

SCOCCA SEDUTA (x2)
SEAT SHELL

GAMBA (x2)
LEG

BRACCIOLO (x2)
ARM

PROFILO (x2)
PROFILE

IMBOTTITO SEDUTA E SCHIENALE (x2)
PADDING SEAT AND SEATBACK

Componenti divano 3 posti:
Components sofa 3 seats:

50

M6x25 (x8)
SCREW

DADO A MARTELLO (x12)
HAMMER NUT

Méx50 (x8)
SCREW

RONDELLA M6x18 (x8)
WASHER

M6x30 (x12)
SCREW

RONDELLA M10x20 (x12)
WASHER

SCOCCA SEDUTA (x3
SEAT SHELL)

GAMBA (x2)
LEG

BRACCIOLO (x2)
ARM

PROFILO (x2)
PROFILE

IMBOTTITO SEDUTA E SCHIENALE (x3)
PADDING SEAT AND SEATBACK




La procedura del montaggio e uguale anche per la versione divano. (2 e 3 posti)
NB: La lunghezza del profilo cambia in base alla richiesta.

The assembling procedure is the same for sofa version. (2 and 3 seats)

NB. The lenght of the profile changes bared on the request.

Nella versione divano 4 e 5 posti posizionare la gamba centrale e
fissarla come le alire.

On the version sofa 4 and b seats place the cenfral leg and fix it on
fhe same way of the others,



/ Samurai tavolo / table \

Componenti tavolo:
Table components:

M6x25 (x8)
SCREW

| DADO A MARTELLO (x12)
HAMMET NUT

50 M6x50 (x4)
SCREW

= RONDELLA M6x18 (x4)
WASHER

Mé6x16 (x4)
SCREW

PIASTRINA DI FISSAGGIO (x4)
FIXING BRACKET

]
g AUTOFILL. 5 5X22 (x4)
Q SELF-TAPPING

<5 SCOCCA TAVOLO (x1)

TABLE SHELL

7% GAMBA (x2)

LEG

& TAPPO (x2)
CLOSURE CAP

=————— PROFILO (x2)
PROFILE

\ _/




1 Fissare i tappi alla scocca del tavolo con le viti Méx50 e relativa rondella (M6).
Fix the caps on the table shell with the screw M6x50 and the relatfed washer (M6).

NB. Nella versione con tavolo posizionato tra le sedute, non sono presenti i fappi.
NB. On the version of table placed between two seats there are not the caps.

2 Dopo aver fissato le gambe. (Vedi punto 1)
Avvitare le staffe al profilo con le viti Mé6x16 e dado a martello.
Posizionare il tavolo e fissarlo con le viti in dotazione (5,5x22).
After fixing the legs. (see poinf 1)
Screw the brackets to the profile with screw Méx16 and hammer nut.
Place the table shell and fix it with the self-tapping screws (5,5x22).

NB: La lunghezza del profilo cambia in base alla richiesta.
NB. The lenght of the profile changes bared on the request.




ITALIAN DESIGN FOR IN- AND OUTDOOR

Deze informatie is afkomstig van de website van Italy365.

Voor vragen, toelichting en meer informatie kunt u contact opnemen met:

Italy365
Modem 20b

7741 MJ Coevorden

T +31(0)85-0773688 W www.italy365.nl E info@italy365.nl



